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Questions 1 {5 points)

The circuit shown below consists of three loads in a scries-parallel connection, with cach of the
loads defined as indicated. Find:
a) The overall real, reactive and complex power supplied by the source, P, O and S;.
b) The overall source power factor, PF,. \00 +2 00 d
¢) The source phasor current, /.. = -
qeo =300y
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Question 2 (3 points) )

The current waveform shown below is flowing through f(}} (ﬂ) O\
a 4-Q resistor. Compute
a. the frequency of the signal, f. 4"
b. the effective values (rms) current /s, 2l
c. average power delivered to the resistor, Pgy.
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Questions 3 (3 points)

A load with 0.8 lagging PF absorbs 60 W from a 100 V, 60 Hz power line. [t is required to correct
the power factor to 0.9 lagging. Find;

a) The old and new line current, . .
b) The valuc of the clement ( R, L. or €) to be added to achicve the required PF correction.
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Questions 4 (3 points)

The 60-Hz line current of a 3-phase balanced, abc_sequence Y-Y system is 2 Anns. Each phase
impedance Z consists of a 30-€Q resistance connected in series with a 106-mH inductance. Find:
a) The magnitudes of phase and line voltages of the load, |F,;| and | V],

b) The total real, reactive, and apparent power absorbed by 3-phase load, P;, Q; and ;.
¢) The power factor of the load, PF.
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t Question § 0N_3 (3 points)

T w-or the circuit shown below
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i / Find, draw and labyel the Thevenin cquivalent cireyiy
terminals a-b,
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If the load impedance Z1=3434Q, find the load current, /;.
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5 0 (3 points)
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iggure shown below, 1(f) = va(r) +1(f) + vy(z) + (). Answer questions 6.1-6.3.
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Section 1
Dr. Mohammed Abuclhaj Dr. Eyad Feilat Mohammed Abuclha)

Questions 1 (5 points)

The circuit shown below consists 'of threc loads
loads defined as indicated.-Find:

a) The overall real, reactive and complex power supplied by the source, P, Qs and S..
b) The overall source power factor, PF,,

¢) The source phasor current, /..

in a serics-parallel connection, with cach of the

Py =100W
I Q1=200 VAR (ind.)
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Question 2 (3 points)
The current waveform shown below is flowing through 5 ()
a 4-Q resistor. Compute ( 1
a. the frequency of the signal, £, 4 P
b. the effective values (rms) current 1,,,,, 2 L
C. average power delivered to the resistor, P, = '2 ; . ; 1'0 1'2
i{s)
f [rms Pavg
1/6 Hz V8 Apms 32 W
Questions 3 (3 points)
A load with 0.8 lagging PF absorbs 60 W from a 160 V (peak), 60 Hz power line. It is required to
correct the power factor to 0.9 lagging. Find:
a) The old and new line current,
b) The value of the element ( R, L, or C) to be added to achieve the required PF correction.
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